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SECRETARIAL ABILITIES
(English & Telugu Versions)

Time : 150 Minutes Il Max. Marks : 150
Sy ; 150 Ddisvey ety o Srpen : 150

4.

INSTRUCTIONS ﬁlﬂi'iﬁum} ;

Please check the Test Booklet and ensure that it containz all the
in the Test Booklet or Answer Sheet, please get it replaced im
(5% HEswd el @ SnloduddF HF o C By SSdeds® md, Shrerd
Hsdod® md e Sdlnd ' od Pidne’ Irdo ot SuEAs8,

The Test Booklet contains 150 questions. Each question carries 1 mark.
[y HESeds® 160 Bheuind. L85 BhD 1 &rdy, Srasodaddd.

The Question Paper is set in Eng].iﬁh translated into Telugu language. The English version
will be congidered as the authentic véraiot for valuation purpose.

[EhSEiy sofibed® solrddobnd B rid's Sthdr Johuddd, Hrerd H|din srarg
Holiddd aohds BhS@s SErdier SRTbud,

The Test Booklet is printed in four (4) Series, viz. [A][B][C[D]. The Series, [A] or [B] or [C] or
[D] is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Booklet Series [&]or [B]or[Clor [D]in Part € on side 1 of the Anawer Sheet by darkening the
appropriate circle with Blua/Black Ball point pen.

B H|ddn sreoib Sfiwod® (Seres) widr [4] D] 3gdwed® dnpodudid. &
sgtwod [ w2 B] md [€] e D md 54 sie g 5586 bd LAY Swrod
ImBodndss. DO B4 H|Ein G, S¢ke (Serics) ma [B] ma [€]l ma D] 2
Admerd Sjddo Led ﬂ-g C Ho0H wobEDdy Forovododd Dydhod w/erl od
Honod ';'.-a:lﬁ' mom D0 DoddTn,

Example 1o fill up the Booklal Serias
M your Test Bocklsl Series s A, ploase Nl a5 shiown balow

@ ® OO0

If you have not marked the Test Booklet Series at Part C of side 1 of the Answer
Sheet or marked in a way that it leads to discrepancy in determining the exact
Test Booklet Series, then, in all such cases, your Answer Sheef will be invalidated
without any further notice. No correspondence will be entertained in the matier.

& @) Ssn ey IPSud  (Serfes) Sdmgrd Sy efod FPp3 > C &
AdodEdona 8¢ NPold Idn (SHHY Jdde wplddor e Jodiuis
o8 GTam o) ewdod el Soddylved’, b Jwdos! FUL ard Jotioad
SZrged Sde Z84Dodndd (invalidated), &722 ol Judodd addbdnd it
).

intely.
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Each question is followed by 4 answer choices. Of these, you have to select one correct answer an
mark it on the Answer Sheet by darkening the appropriate cirele for the question. If more thar
o circle is darkened, the answer will nol be valned af a1, Tlee Blue/Black Ball point pen to make
heavy black marks te fill the cirele completely. Make no other siray marks. Use of whitenor i
prohibited. 10 used the answer gheet is liable for invalidation,

B8 @A sl Sdreridoo aigpdsd. vokhs’ HOahh wart JED SEres Hdtue'
BHS Seronoduld S)Zied Sont Gf Jldch. of oddon Jind Sidino Dobsd,
v Sdrerddn H0%0cludth. H)dind Il dom B8 Jopsdh wioE oE Soued iy
AT, e Do Betdbh. 3856 b JLDoSSRSs, A Sirod Hiddw
farergolh Jobundd,

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
S ¢ [DE Sl [SDops 1 8 warw (2) wouddpd ol G B0 e K008

110 0[®|®

Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black Ball point pen by
darkening appropriate circles in Part A of side 1 of the Answer Shect. Incorrect/not encoding will
lead to invalidation of your Answer Sheet.

S UESE aigedn S LOG ) 55 Soudd Lboly M 5T foad Adrod |8
sy efod 353 2§ A fofh p/arf ord Sovod Dind 30dbd Hdived® Som ol
rolodish. edondinm Joar U8 IT) 8ok dobdSfouar Shrerd H(8hu Iod0osnd,

Example ; If the Paper Code is 027, and Roll No, is 95840376 fill as shown below
derdm ; D35 55 027 Lok 'S o, 95640376 wondT Bod <rbd DSdwm Dodw

Paper Code Holl No.

il B E 's Ao,

oc| 27 9|56 |al0|3|7]| 86
| JON©] CNCONONON NONONC)
ONORO. ONONORONORORONO, :
@ e @ Q000 Q@Q@@@
® @0 ONoONONORON NONE)
@ @ ® ORONON NONONONO)
®@®E O NORORONONONO,
®® @ ONON NONONONON
@0 oNoNoNoNoNON N6
®®® ORONONONONONOND)
®@@6 | ZORORORORORONO

Please got the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answor Sheet without the signature of the Invigilator is liable for invalidation.

Sirerd Sitnd’ ftrawodd Juded® 350D (Invigilater) Glo, foddiud Sosinh.

DG BUpRELD Soddin Srord HiShed' Hidantd wa J0%Dodudd,
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8.  The candidate should mot do rough work or write any irrelovant matter in the Answer Sheet,
Doing so will lead to invalidation.
wfeh ‘O (Rough Work) 7 md) LU2a edsddd JbNobbeod md S&rcd ILENE]
|Troiords, wiy |RAS Sdroed Sidie S080osHoa Acldirns orb B,

8. Do not mark answer cheices on the Test Booklet. Violation of this will be viewed seriously.
REreriduod DD Rlodods. 0D wdEolE Sibor S0Adodadids,

10. Before leaving the examination hall, the candidate should iﬁnd over the original OMR Answer

Sheet (top sheet) to the Invigilator and carry the bottom sheet (duplicate) for hisher record, failing
which disciplinary action will be taken.

S0E S L0D 2, el &0 Ddrgrd Hsdiu wbandd (Bhueny H|gaw) ehHd oy
ﬁﬁ;ﬂ;ﬁ:ﬁﬂ (Invigilator) =dy, 588 (duplicate) Ao Widhnie (|Bod Hdkn) S58" SRED
IGH . wbERd Shrerd Hifde S 306S |SRiEe Sdy SkEbudid,
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If COLLEGE iz coded as AMJICEC, then
the code for UNIVERSITY is

(L YOJWFSTIUE
(2] TMHUDQRHSX

5 SLOTCPQGRW

(4] WPEXGTUKVA

If TABLE is coded as WDEQH, then the
code for BOARD s

(1} CPBSE

{2) ERDUG

(3) ERFUH
4y ESIWG

If FAT iz indicated by 6+ 1 + 20, then the
indicator for LEAN ia

(1) 12+5+1+ 14

(2) 11+44+1+13

() 10+6+2+ 14

(4) 12 +4+1+13

Find the odd one out from the following,
(1) Chess

(2} Carrom
{3y Table tennis

{4)  Hockey

In the following, which one is difforsnt
from the other three ?

(1} ACE

{2 BDE

(3 CEG

i4) DFH

In the M[llowing, which one is different
from the other thres ?

(1} AOIU

(2) AUEI

%) EUOI

4y  ALIYO

(4}

1.

3.

COLLEGE &wy E'S AMJJCEG wondsf,
UNIVERSITY clus; &8

(1} VOJWFSTJUZ

(2] TMHUDQRHSX

(3 SLOTCPQGRW,

(4)  WPKXGTUKVA

TABLE & &6 WDEOH
BOARD civg) ¥5
(1) CPBSE

(2) ERDUG#
(3) ERFUH

(4} ESDVG

FAT 56 + 1 + 20 J ArdoDdd, LEANS
&2 g A Do iy

(1) 12+54+1+14

2) 11 +4+1+13

(39 10+64+2+14

() 12+4414+13

(2o R 28 DofeddE owl
HoRdn

(1} 13511;-'

(2 E‘Edﬁnﬁ:g

(8) Hand BND

(4) %8

G 808 S 28 JofeREs ond
St 7

(1}  ACE

(2] BDE,

(3] CEG

(1) DFH

G |Bod =S 20 Dofemets o0
SrofTioiw 7

(1) AOIU
(2] AUEI
(3} EUOI

(4}  AUYD—

shoua i,
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if E? 6, x, 17, 26 fellow a certain rule,
then x =
1y 9

2y 10
3 1
(4) 12

Find the next number in the series

3, 12, 45, 192, ...,
412
814

(1)
(2)

(3) 768

4y 1110

F 1+%2ab 2+3=13,
in a language, then 4+ 5 =
(1) 31
(2) 41/
(3) 5l
(4) 69

d+4 =26

If 6+ 7=40, 4=68=28 6+3 =24
in a language, then 9 » 4 =

(1) 36

(2) 40

(3 <44

(4} B0
If a=bh=8"—8b+b® and
ab
aAbm= T. then (1 A 2)+ (3 A 4) =

(1} 30

(3) 40
(4) 41

www.sakshied
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7.

4

10.

11.

[A]

2, 8 x, 17, 26 wdd o8 DodRirany
Sr@ondd x =

{1} 9

2 10
@ n
(4 12

& [AsS'D Sorgd Dopgly SFRdn
3, 12, 48, 192, ....

(1) 412

(2) 614

(3) Te8
1me

s 1+2=6 2+3=13 3+4=25
gon? 4+ 6=

1) 31
(2 41
(3 Bl
(4) B9

el eraSt 5eT=40, 4+6=285 6+«3=24
wouS® Gsdw=

(1) 35
(2 40
(3 45
(4) B0

a*b=a®—-ab+b? Hboks

u.f_'-.h-“—:-. oS (1A2)+(3A4)=

(1) 30
12) a3l
13) 40
4) 41

ucation.com
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12,

13.

14,

A gits facing towards East. If A turns 270°
towards right and then 180° towards lefl,
then the direction A faces now is

(1)
)
(d)

East
West
Maorth

(4)

South

Find the velue of x in the dingram given

below :
B.
8 Az
B4
7. 10,
1
(1) 2?
{(2) 25
{8y 30
(4) 35

The next term in the series

a
18

ABZY, CDXW, EFVL, ...

(1) GHTS
(2) GHST
i3y HGTS
(4) FOTS

www.sakshiedu
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13.

14.
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B3

ady Bty

(1}

(2)

(3l

(4

Eﬁﬁﬁa

Sddt

&g

&8

aon

(4]

12. A wdcd Erthy Swgor ety A
270°

 dSRTH BonSt, adyd A L Jdm

180°

& [Bob Sodng'd x Desdd S

(1y

(2
(3}

(4)

& (Idd'D Sogs dodw
ABZY, CDXW, EFVU, ...

(8]
(2}
(3}
(4)

32

10

2

S

39

GHTS
GHST
HGTS

FGTS

cation.com
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15.

The odd figure out of the following is

(3}

17.

The odd one out of the following is

(1) T 1
(@) T l T

@ NN

© [N

The next number in the series
I&E‘nﬁhm'slﬁ;g“

(1} 19
(2) 21
(8) 28
(4} 25

[ 7}

15, & (800 oIS DHTS Sékw

18. © & (208 =D& Diydde

{1} I l
2) T l T

@ 111

o (11117

17. & (ds® sogd i
1, 3, G, 10, 15, ...
(1} 18
2y 21
3) 23
4) 25
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18. Find ¥ in the following :
1o |11©
i (M
iz ML

18,

W 3

If C is the mother of A, D is the husband
of ©, B is the wife of F, F 18 the brother
of G, then F is the of A,

(1)

paternal uncle

[ (2) maternal uncle |
(3} brother
(4) =ser

A wall clock shows the time 8.00. IF it is
placed on the ground such that its
minute-hand is towards gouth then the
direction of its hour-hand is

{1) East
(2} West
(3) Bouth
{4) MNorth

What duy s 26 if 3™ of the month is
Wednesduy 7

{1} Sunday
(2) Tuesday
(3) Thursday

(4) Friday

(8)

18,

20,

& |Bcb rodt P oS M Redw

¢ 1€ 1 |6

18.

J

(1

(2}

(&)

me

(4)

A cloEy g8 C, C Swofy, @6 D, F Closy,
:.:-cEE E, C Glof, s P owondd, A

G, F oibi.

(1) Dy B8 wgad

(2 ddrd

(3) sk

(4) 450

e g Abolrddn solwd 800
Sp oo . BO0 daro Soo SEman.

Ardod Dform Pl BA DEST, fose
den Ardodh 85

(1) ety
(2) Ddd
(3) G3ede
(4) adddw

Ld oD H Anin mEocDRT 68
addee 7

(1) wbadds

(2) dwoldardin

(3) rhdbardan

{4) | S it
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If 1* February of & non-leap year falla on
Thursday, then what day will be the 1™ of
April of the same year 7

(1) Sunday
(2} Monday
(3) Tuesday
{4) Saturday

If a « b stands for (a® + b + 1, then
1+(1%2) =

(1) 12

(2y 122

(3} 2121
(4} 1212

If we denote (ab - 13 + b by a & b, then
(1A2A[AZ =

(hy 32
(2} 64

(3y &7

4y TO

A is four times as old as B. After 4 years,
the age of A will be three times as old as
B. The present age of B {in years) is

(1 6

@ 8

(@ 10

() 12

If x* e 0125, then x° =
(1) 08125

(2) 003126

(3) 0003125

(4)  0-0003125

19)

23,

[a]
Dzl SoddySdwd'd o 1
bl iBtd, of Dol Eine' 2BS |
w Doty ?

(1} edodn
(2) ardd
ol dardio
’H}al'diw

i3
(4}

a+ b oda (@« bF 4 1 sonds,
18(ls32) =

(1 12

(2) 122

(3) 2121

(4) 1212

fsb- 12 +b DaAb 3 aroodnd
(1aallazd=

{1 32

(2) - 64

(3) 67

4) 70

B 08 A arooth 3t derds, 4 Roddyore
dored, B 08 A Lurd Do Rdaords, |Sed
B Glo¥), Sl (HoddySilned)

(1) 6
(2)

{3 10
(4) 12

= 0126 wondd, x5 =
(1) 03125

(2) 003125

(3 0-003126

(4) 0-0003125
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C is taller than A and D, and shorter
than B and E. A ias taller than D. E is
the tallest person. Whp i in the Flar

position heightwise ¥

(1 A

i2) B
3y C
i4) D
Five persons A, B, C, D and E sit on a
bench such that A and C are together but
C is left to A, E sits first, D is n,g'htu!'E

bust left to C, and B is the last one. Whn
is the middle one on thatl bench 7

i1y M
f(2) B
(i C
i4) D
Find the next lerm in Lthe series
50. 83 )
o
1y 16—
&
1
(2) 16—
) 3
(3] 16
(41 15

Find the odd one out from the following :

11 Yellow
{2) Black
13)  Blue
i4) Red

110}

27.

28.

!E |
Eﬂmﬂ:ﬁhﬂuﬁanuﬁﬁﬁﬂ‘ﬁ:ﬁn‘&a
Sobof B Sdclu E o ¥o8 ﬂ-ga-m- A ol
e D Hol dRdard, wodbe E
wdgod UBdards. DEHS 4 5 ride
wads 7
1 A
(2) B
3 C
(4 D

LE wobin adibd m A, B C D
Mﬂ!&:Ewﬁrﬂﬂﬂm J08° A Beboln C
e pE88d 0 A 8 C Jdaudy, E Swdd

Duﬂa'ﬁ-:-E!E-JﬂﬁaE'ﬁﬂ
£ Jﬁﬁuﬂ@. LHbofn B edsd 050 o,

& m‘bﬁ- ﬁnﬁ;ﬁ‘ Sty Erdpyamds 7
(1
(2}
(3}
{4}

O = @

o

& Ass'D dovgs SoEw 20 7
50, :13%. 25, 20, ...

2

1) 16-
{1 3

1
{2} 16 3

{3y 16

(4) 15
S (208 RS HHBAEs ?
(1) Soddusy

(2} Deway
(3) oedn

(4) oSy
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31.

32.

33.

34.

35.
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If a*b=a+ab+b—-1, then 2 * 3 =

® e FETET]

2y 8

(3 1

(4) 12

In a group of ants and spiders, there are
20 heads and 136 legs.
are there ?

(1) 8

{2) 10

How many ants

3y 12

4y 14

5 years ago, my sister’s age was § times
my age. Now it is 3 times only. What is
my sister’s pfesent age (in years) ?

(1) 30

(2) 25

(3y 20

4y 15

In a leap year, January 26! is Saturday.
What day will be August 15" in the same
year ?

{1) Sunday

(2} Monday

(3) Thursday

(4) Friday

In the year 2006, the lndependence day is
Saturday. What day will be the Republic

day in the same year ?

(1) Monday

(2} Tuesday
(3) Thursday
(4) Saturda)/;

(11)

31.

32.

33.

34.

35.

a*b:a&ab-&b—l@oo&?ﬁﬁs, 2% 3 =
(D

(2)

(3y 10

4y 12

Do oo OB Dhardrins®, 20, soen
Dook 136 seehy aoon. Dden A
Gamon 7

(1) 8

2y 10

3y 12

(4) 14

5 Doddyore Hrogaw, T U0 Had)
%08 5 B adypd =l 3 By dr(EH.
o U0 (DS Doy (éo‘ééadé»@é*)
od ?

(1) 30
(2) 25
3) 20
4y 15

2.8 O JodS EHnS*, wdHO 26 HISw.
o8 Sodd s’ eid 15 Q Bddw ?

(1) odaSdw
(2) JHoardiw
(3) hdaeddw
(4) H[Earddw

2006 boéé&d&»é‘, Fdodag bS‘éJ;’Sﬁ.’m
Dwson,  ©F  DodEYES'  fwdos
B%E) © T8 ?

(1) Joarddw
(2) SvoHdardaw
(3) Hardiw
(4) AdaeSdw

www.sakshieducation.com
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In o wall clock, what ia the angle betweesn the
minute-hand and hour-hand at 5 o'clock ?

(1} 80°
{2+ 120°

(3) 160°

(4) 185°

In a mirror, the image of a wall clock
shows the time 28 9 hours 50 minutes.
What is the actual time shown in the
clock 7

{1) 2 hours 10 minutes

‘ul

(2] 3 hours 10 minutes
(3} 4 hours 15 minutes
{4} 4 hours 20 minutes

Which ene of the following plane figures ia
nof convex 7

{4}

(999 — 2 -
(1) 998007

(2) 995897
{3) 5965997

{4) 997957

If fix)=x" = 22 & 7, then M2) is

(1} B
(2] ©
@ 7
(4) 8

112]

d6.

a7.

40,

v F'd fdofrdins®, 5 fosoddh dhdre
Aoy Nobe oty dadip Feadn Joi ?
(1) 90* '

2) 1200

(3 150°

4} 165°

sddnd of FE Kacirddw Slosy
BEDowde 8  fobe B0 JDAEuen

ArDoRE w AScinddy SrDodh  sden
ody Jod 7

(1) 2 Ho&e 10 Sidiboey
(2) 3 fode 10 Jlndsbuses
(3} 4 fdode 16 Dibddhwen
(4 4 tHobe 20 Advdboes

@ |Sob DS O Sedn HDogrsdiw
208 7

4)

(ea)® - 2% .
Sa8007
995997

996597
997987

{1}
{2}
(d)
(4)

fix) = x - 2% 4 7 wouds, M2) Dewd

(1)
(2)
(3)
(4}

BE sy=l m o
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If (a+2°-(a-2°%=40, then a =

(1}

(2

(3}
(4}

B =} |Ch | o3

In AABC, £ B = 90 and £ A = 45° If
the length of its hypotenuse is 8 wunits,
then the length of any other side (in

umita) is

0 442

(2} 3.2

3 o2

(4} 1

Il Aaju b, c, d, e, Ba=laclg
and C = (a, d, e, g hl,
then (A M C) U B =
(1) s, b, c,d e gl

(2} im, b, c el gl

(3] la,b,d e £ gl

4) fm,e.d, e gl

Five persons A, Ay, Ag, A, and A, stand on
a line such that the distance between A,
and A, is & meters; A, and A, is 10 meters;
Ag and Ay is 15 meters; and A, and A, is
20 meters. Then the distance between A,
and Ag (in moters) is

(1) 45

(2} 35
(3 20
t4) 15

yO-40=0-36 %025 =
(1 o7
(2 011
(31 019

4] D

{13

41.

42,

43.

45.

(a+2"—(a-2"= 40 wond aa

{1) 3
21 &
@ 7
(4) 9

A ABC &° /B = 90" &bcdn 2 A = 45°, AD
dgin 280 (Pad) B oirde woudd,
DB add fhadn DAD (Sdl) (clrded)

(1 442
(2) 3.3

(3) a9/
(4) 1

Awila, b e defl, B=Iiac I g
fuBoly C = la, d, e, g, hl woudS,
(ANCIUBE=

(1) in, b, e doegl
(2} la, b, ¢ e F gl
(83) I(m, b d e f g
(4} lo, ¢ d oI gl

Ay, Ay A, Sobols A, ud ol

ﬁgﬁm ¥ éd::.‘:.ﬁ‘ A, ;‘:uﬂm&: Ay © Dole
fdoll A, © &g 10 Do A,
R h o &gy 15 :.1.-..; BoBokn A, BBk
o i'.m'ﬁg 20 w0 Srdde dodbdom
wE

e damd. sdpd A, Sbalv A ©
ﬁd; Sl [:!l:u'.r_l_ﬂ_ﬁ‘] ’

(1) 45
(2) 36
(dy 20
(4) 156

JO4B x0-38x 025 =

1y 07

(2) 011
(2} 0-18
(4} 021
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49.
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The sum of -four consecutive nataral
numbers is 86, Find the smallest number
among them.

(1 14

(2) 15

4 18
4y 17

15 is 60% of what number ?

(1y 20
(2y 25
(3r 30
(4} 35

The breadth of a rectangle ia threc-fourtha

of ita length. Iftho perimeter is 98 meters,
find the breadth of the rectangle (in
matarsh

(1) 28

(2) 26
(dy 24

4 2

If R —+ M8 iz a function defined by
fix) = x* - x® - 2¢® + 3x = 1, then the
value of =1} is

(1) 4

2) =4

() =3
(4) 3

The perimeter of s rectangular field is
16 units, Its length is 5 units. Find its
area (in square units),

(1} 12
(2) 14
(3] 15
(4] 25

www.sakshieq
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4.

47.

48.

(4]

aeorh Sdhm ﬁﬁl e Dogpe dwdis 66,
RILE Ry Sopgie SRofTieie

{1y 14

(2L 15

) 16

“ 17

15 2 Soggs® 60% et ¥

(1) 20
(2) 26
(3] 30
(4) 35

nE AU Y ey ols
PaHS" ot durdh  Hodeen. A2
DpFosd 98 XediT,  Lgdddphe
S 3dewy (Deged)
(1)
(2}
(3)
{4)

= EEE

f:M =R uﬁ{_ﬁﬁ:ﬂ]ﬁ r g i
fx) = x* - x® = 2x¥ & 3x - 1 woudd,

fi-1) Dewd
{1} 4

2 -+
3 -3
(4) 3

o &.g SHdes Jidde Lpfod 16
crdbo. A Pdy 5 olrdioe. AD
Dhgduts (S86Y ofirdad’) YR
iy 12

(2 14

(ay T1h

(4y 25
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The average moarks of six subjects is 78, out
of which the total of 3 language subjects ia
210, Then the average of the othar 3 subjects

in
(1 78
2y B0
() B4

(4) 86

The alarm is set between 1 a.m. and 1 p.m.
Bul I woke up one hour late. At what time
did I wake up ?

116}

6l.

[A]

ul Hokred'h Srdpo So-d0 78, Dast
3 pridr SGofro Zwdin 210, wdpd
=A% 3 Jhodre Doid

(1} 78
(Z) 80
(31 B4
{4) B6

1 oom &0oiw 1 pm -":-}!555‘ wer S0k
bl 20 J% Y Hob wedgon
SO A #05 Soln Jod 7

M Bam. (1) 8 a.m.
@ 7am | (2] 7 am.
3) 6am (3} & a.m.
4 5am (4} & am.
If A=ta, b d, Baibdefadfn tn w6 dhB=bd 0 ook

C=lcd Lgh wod, AUBU O
€C = [e, d, f, g, hl, then the number of e :
elements in A U B U Cis sne w8
T (i) "B
2y 7T 2 7

E ]
Mahesh i8 15 years 6 months old, while 54. Drd wdads 15 '1?:'':hi":'a':-'l"':r'""1l frow m-:
Rajesh is 14 yoars old. Whit is the ratie foards wbols odd 1 Soddyore Dok
of their ages 7 Koords. Do Solane g Jod ?
(1) 27 : 28 (1) 27:28
(2} 27:26 (@) 2726
(3 31:28 (31 3T 28
(4 a1:41 (4) 31 : 41
What is the speed (in km/hour) of a car if [BB. o sodh 200 5.5, drdded 21 Hosost
it covers 200 km in 21 hours 7 L::-n.ﬁ-du-ﬂ;&. o ﬂ"':"gi'r Ariao
2 (B.20./fo.08") Jod ?

{1} B0 s
(2) 65 = f':_"
(3 60 =

(3} &0
(4] &5 .
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The ratio of twoe numbers is 3 : 4. I the
greater number is 48, what is the other
number ¥

(1} 24

(2} 36

3y 40
{41 44

The cost of 18 liters of oil is ¥ 864, How
many liters of oil can be brought for T 1200 7

(1y 14
2y 15
9y 20

4y 25

A train travels at a speed of 80 km/hour. How
long will it take to travel 2000 moters 7

(1F 1 minute

{2} 1% fi i tes

{3) 2 minutes

idi 2% minutes

If & certnin number is doubled and 4 is
added to thes result, the sum iz 44, Find
the number

(1) 10

(2) 16

(3) 20

(4} 25

IT twn comsecuiive even numbers are such
that 7 times the first exceeds five times
the second by 54, then find the smallest

1) 32

(2] 34
(3) 38
(4) 40

www.sakshie
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6.

67.

Sod RDompo NinE ¥ o4, Bd oy 48
woudd, DALY Jogy Jod 7

(1) 24
(2) 36
() 40
(4 44

18 8. &3 S5 T E64. T 1200 of: I
Dog L3 BSddyyt 7

(1} 14
{2) 16
(3) 20
(4) 25
a8 Beo 80 8.2/ Mo, ins PHordodis,

2000 Bogh [Hofrdoded €8 Jod
Foduh BLbEsd 7

(1) 1 2dvdde

(2) 1-;- Dt

(3) 2 DSEmes

@) 23 Dbk

n8 Jomppgly Cododw I aewh Sodm

Sy Joeddn M4, v Howgl SRefiie
(L1 10

21 15
(31 20
(4) 25

Bodh Shdne So 30 dopgod’, wsdord
7 3 (Soo) JosdeD b g (Sode)
¥ol | af T 22§ dopg 8 7
(1 32

2y 34

(4) 38

4y 40

jucation.com


user

user

user

user

user


www.sakshieducation.com

ASM401 (1

Directions : Read the following passages and
answer the questions given below them, selecting
the enrrec! gnewer frem among the alternobives
given. Mark your answer as (I}, {2), [3) or (4] in
ol anaer sheel '

PABSAGE (g. 81 - 70)

Anta talk - not with words but with tastes
and smells ! Their vocabulary i made up of &
mixture of substances they produce in various
parts of their bodies and emit via their glands,
The substances, known as ‘pheromones’, are
gignale that other ants can smell and taste.
The meseages they communicate set ofl o
apecilic kind of behaviour @ fotching fond for
inztance or looking aller the food or foeding
the queen. Ants use o hundred different
gcants to communicate & hundred different
meagages, With such & unp]‘[iit:i::utnﬂ array of
messenger  (ragrances, ants  organize
complicated tasks with close-to-porfect
efMiciency.

When vou see a handful of ants seurrying
around in the kitchen without any apparent
purpase, it doesn't mean they've lost their
bearings. They're scouts foraging for food.
Onee they've found something edible, they
report hack to base, depositing their chemical
spores on the way. “Food located, please
collect,” is the taste and smel! measage for the
sther members back at the nest. Soon, long
chains of worker-anis begin scurrying back
and forth from their nest ferrying food which
thay hand over to nnts who specialize in
housekeeping. The dutiea of thesse ants
include keeping tha nest in good order and
cleaning and feeding the queen.

www.sakshie

7) ; [a]

PP dsoes : 805 adpedd So)dived Sdbed.
o dﬂﬂbﬂ"a (fod adfodd JDfendve dod
BHoH oS maedk SEW o dogpd
(1), (@), 3) o ) &b SEroed Hddvdod
Ogowed.

Sodydse (S4o 61 - 70)

Sfven Sorod b o Gnbor Hfok
Rbed® Srdpdi | g b0 203
ol 6l 4838 don dorgre DRk
g Sdepodn Hlolk 8D 8 (Node
@rgor  BobEE  DopRe. . d Sovgeld
A ol wokd Dk 30 Do
Odeth odd ool dnbodH dowclotd
SoBerondiyh. wd IrdnFw SSroow
gidd SAfroded o HE wdd
Segostms 88 od8 udtdo vodosdod’
= L;':EIEH FEI% (g
£0Ncodide, Dden wf Dol DG
Sartdod® Hod DG Sbrodiveis
3DofHolvd. HUS Jgas Bdrooe
g Hidooi e iedpior Jdgdroi.

Soufad® B i o s¥ze Jhoo
SR dxbH o R Siboda, g s Emo
B drdd. vl vl ediind® agmow
irgortin 83wl SfMimdpds,
o pions sdubdodslil |FE8° £
dircbore Do Mo Cudtbs
Z0850, dobdh WEDodhd” od Ho
Dbl o Srocoan ?éﬁaﬁ‘ﬂ e
bivokh vodToinb, Jobd HDLRe S
S S0y fwodd ML BN
u#n-:li Q-é-u‘.;'}!l. E#ﬁ:ﬂfai‘u .Q-E:énﬁ‘
wtgEnd Doedd Ddol soddod. &
Needh Jler wdtorin Roglolvh dedol
el Bpnfie dolidod” &ooly wikdo
wolicsdod' Bdydd D¢ Sgipie (drpd).
ducation.com
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AS/401 (18] * [A]
61. What is the passsge sbout ? 6. & 30T Sde HD WO0D adgudss ?

(1} Behavipur of ants (1) e Sd85

{2}  Anis intelligence (2) wise abddsw

(3) Ants communication (3 Sfe Sdroed 8-

(4) Ants talk :

(4) Dive HSogrde

62, What is the vocabulary of ants made up of ? 1g3.  Afoe Hameduy @ o Jotessa 7

(1) A mixture of substances they produce in
virious parts of their bodies ) ;-nﬂiu &::;‘T;:::"ﬁ w eLAL

{2) Ants learn to talk _
(@)  With work (2} Liben Srerdddn ST

(4) Eating food (@) 398
(4] edsdin S

83. A mixture of substances ants produce in

various parts of their bodies is known as |83 &9 #bdosD 22¥ wrrw a8 dbd

:.’:n'g-u ahbibn D

(1} rpesources

(2) pheromones 0} Sareren

(3] fragrances (2) P&y

{4} efficiencies (8} - uoriiden
| @ Fdgge

64. How do ante receive signale from othera 7

8. Lhey wéhe Rod  Hoferud oM

(11 Smell and tasts

o 7
(2) Talk (1) 58 Sdoky &ip
{3) Understand (2) &rgrddo
(4) Discussion 3 wdo JuBbo
(4) oy

88. Which one of the following is correct 7

{1} Ants ingl i . |88 . & |Bob DSt 28 HEve 7
Lt6e a8 sngle scen communicate
a hundred different messages, (1 den | a¥  o0%% S0l 508

e
(2} Ants do not use scente to communicate Shrordinod oRadh i
8 hundred different messages. (2) Dfew Hod DY SErorShued

(3) Ants use a hundred different scents to Dol sdkod oEh
communicate &  hundred  different @) L Sod M TESOR Sof Lk
(4} Ants use mouth to ecommunicate a (4) den Hod I AdrorSined
hundred different messages. Sofbd T80 adGrActs
www.sakshleducation.com
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AS/401 . [18) E
66.  Which one of the following is not included (66, Sirordived BOobHol  o¥f  Sdp

in the messages ants communicate that set
off & specific kind of behaviour 7

{1) Fetching food

(2) Looking after the food

(3} Cooking food

(4} Feeding the gueen

What is the benefit that ants get from using
messenger fragrances 7
{1) Neothing is useful

(2] Ants organize complicated tasks with
cloge-to-perfect afficiency

Ants can work hard
Ante can sleep weall

(3)
(4)

What is the purpose of a handful of ants
scurrying around in the kitchen 7

(1) Foraging for food

(2] Toa build their nest
(3] To clean the houwse
(4) To play

What is the taste and smell message for the
other memhbers when scouts have found
something edible ?

{1} Strangers are coming, go away

{2) Food located, please collect

{3} Danger ahead
(4} . Clean the nest

Which one of the following is net included
in the duties of worker-ants 7

Keeping the nest in good order
Cloaning

(1)
(2]

{3) Feeding the queen

(4) Searching for food

www.sakshie

a7.

a8,

BEEREIE  wodin 208 a8t 28
Hﬁ,‘}ﬂ& e 7

(1) eds Wdo’

(2) wFdiud f}uﬁguﬁaﬁ/
() eSsiod Sohy

(4) orald &rfhodd

Parerd edogrod addrhodhd oo
Ly Zrod ergiin O 7

(1) addrsgse Ji B

(2) Dfen: S5  Sbed  edpod
Saocirdy 635  dgpol
Do

(3 Ddoen 558 Sddchredy
(4) Wbo v JBodHed

SouHad' Ry Odven HOAGAD sOodw
oo 7

(1) wrd edibe
(2) ¢ frdod S

(3) =odD hFe Jobdiw
(4) wdsiy
SR 83 edfdiod  SSMEHbyd,

fArdortien (scouts), adthofh dHoh &0
Seboly & Sdlrordds om 7

(1) (Fdords Sdbamts, Bedrdn
(2) widdio S0B5, Scbdh heo
(@ dwos (Sieddn 4o
(4) rrdod iy Jofude
&6 (Bca Rd DA IDRe Dhes
o 7
wRgorrT & oddam

) gfo Jobde
() ol eddo woboddg—
(4)  edddfat u;ﬂahnﬁﬁﬂ -
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PABBAGE (Q. 71 - BQ)
After the accident, a car from the hospital
took Krishna to hospital. The two men carried
him to 2 bed and put him in it carcfully. Scon
e nurse and a doctor eame, The nurse wrota
his name and address in a book. The doctor
took the bandage off Krighna's arm, looked at
it carefully and put his hands on il. He said,
“The arm is broken” He said to the nurse,
“Give him some tea to drink.” Then he said to
Krishna, “Do not worry, we will do something
just now. You will be all.right soon [ Krishna
was a little cheered up and said, *Thank you,
doctor.” The nurse gave him tea to drink and
covered him with a warm cloth, The doctor
gave him an injection to lessen his pain. He
tied some banduges and applied plaster,
Hrishna'®s arm pained him a lot and he
requested the doctor to look at it. The doctor
teld the nursa to give another injection. After
this Krishna could sleep well. While Krishna
wag in the hospital, many of his (riends came
to see him. Whenever his father and mother
came o visit lam, they brought some fruita,
milk and books., There were several other
persons suffering from diseases in Krishna's
room. He was all right within & week and

went home after gresting his room-fellows.

20 )

[a]
S6TEdn (P4 T1 - BO)

Pircdn dorgd, of wASE B ik
B85 SHBONID. agd Ridnpo w8ld)
Dosin 356 Dosd bAEO) g
S Bt Jobd ol B8y Lok el
ety SOnards 8 Hdfeds’ edd b
SoBoks DErirds Sty (Rse. B35 J88
ady wgodadd arid FOhcd, r|fdm
04000, ol el ey D 28" &
Do mamih. ‘N Jow  DOASfoxda”,
S8 wEdR ot PAm & sl
6d Dy Dby HHE oD od S8,
i edyd OB Jobdide. N Sodst

Fenfodod wd Jind. £33 JobEind &

Do o ‘ot | i Sheardie”. S
u8d3 |evied 4 afyh. dogE Ja

Sy S, el 08l g S o

2oBERd vy edd8 wrgodz Y 306
S, 5)f Jov 9EdS oo Ty Dol
wdn Shy aHdE0 odd drdde =
it T, eipd arf Hoyh
w38 @wefE =moBL sigd oind.
domgd SHm odm DASHDAR. €)Y
wBBS" iy, oD D ow
08 wddl drdenl Diryth, o8l

SRdoien wBE. dSyd. SRy F
Dod, ey lok Hsved By, (83
6% dad Jheds Bmob’ =g St
Spwy orom ol samith. odEn Swro
&0 wdil rdovards L0k &5 RS
e ol Lyrsofo Soydr 043

Eﬂ;#mm-
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73.

74.

Why did Krishna go te the hospital 7

{11 To see the doctor

{2} Because of the sccident

(a3}
(d)

Because he saw a car from the hospital

Because he wanted Lo see his parents in
the hospital

How many men carried Krishna to a bed 7
(1)

£:1)

4
2 3

2
(4) 1

Who said “The arm is broken™ 7

(1} Krishna

(2]  Duoctor

(3
4]

Nurse

Car driver

Then ‘he' said to Krishna, “Do not worry,
veee = Here *he' refers to

{1y  Doctor

(21
(3}
(4)

Nurse

Ward boy
Father

He said to the nurse, “Give him some tea
ta drink.” Here *him" refers to

(1)
(2)
(8]

Dactar
Nurso
Wiard boy

(4}  Krishna

www.sakshiﬁjiui;ation.com

71.

7.

T74.

75,

S)F whDBE Jodh :-ﬂ;;md: T
(1} el drdah

(2} |[Sardan dok

(3) euds o drddio Sod

4) WSS w8) SDSodod b
e85

foddy  A6H  S5%  Josdob

R D AT U
1) 4
(2) 3
(3) ;2
4 1

“How JORSE" ol S5 Dyt 7
(1 £

(2) aorgf

(3} Sy

4] s*dy Bedds

vy ‘od !Jg-ﬁ‘ di o o
W rESEEy . as e dR
wod J&& 7

(1 =2k

(21 adn

@ = wob

(@) dod

Hnd  edd & Womr wam i,

nerlaeds eddl Fone & m‘m&" wdyd
‘eSS’ woll 08 7

1 =g

(2) Hdn

@ & ool
(4) 35
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AS/401 [22)
T6. How many injections were taken by [768. Dol NESITHoDE 518 oRh @0REHen
Krishna o pot a good sleep 7 3::%&5‘3'1&: ? h

{t) 1 1y 1
(2) 2 (2) 2
(31 3 3) 3
4y 4 4 4
77. HKrishna was not alone in his room in the . 5-1@ H‘ﬁ'ﬁtﬁ'ﬁ‘ g0 Ao “"Eﬁrﬂ BES
hospital because with him Wolbihr wdds
(1) were his father and mother (1) =83 89do|devamyth
(2]  were his friends (2) wdd Dojfienamyi
(3}  were the doctor and the nurse i) {Pi'ﬁ.‘n Fubaty ‘»&lﬁ}:r damyd
(4} were several other porsons sufferin
froen Wi i & (4) 2 Frod wdddddly e
ol g o
8. Wheo brought fruits, milk and books 7 8. dodb, drw  Hbol FmEel S
(1} Krishna's father and mother Eﬂaa‘ﬁ; ?
(2  Krishna's brother (n E;IE ':'-'.iuﬁa, ﬁﬁ'ﬁﬁlﬁ‘}uﬁr
(3) Krishna's sistar (2 5 S TEh
{4] Friends (3 gﬂ% ﬁ:i,uﬁa_ TR
(4} 'ﬁ:l-bﬁam
7.  Knshns came home from the hospital . K55
: wH|S od acds SBASIyTE
(1} many days after a werk
() within 3 days W e et T e o S0
(3)  within a waek (2) fard Gerodt
(4] after improving (3) 2 >SHod
B0, Whom did Krishna grect before leaving the “ E'mE";f.:l d-rrs-r:i
hospital ? B0. wRHE Mwod IV)dhivod £ 08
(1) Other patients in his room Ly oo 80k 7
(2) Docltor and nurse (1} wdd 850 Ao E'rizg
{3 Relatives (2} arflh Sbalu E&ﬁ:}
(4)  Friends (3)  wodhiey
) 4 Fnipaies
www.saksheducatlon'.‘gom
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PASSAGE (Q. 81 - 90)

As rains receded, | got a stranpge job. Our
neighbour, a rich merchant decided to become
a palitician. His mejor handicap was that he
was illiterate and he offered me the job of
pocompanying him on trips into the interior
villages to read and write for him ot wages of
¥ 6500 a month. [ made soveral trips with Lala
Munghiram, as he was called, to the outskirts
of the village, eleeping under trees, eating
stomach-full meals for once in my life.

In the village, [ was astonished at the
ignorancea and poverty of the childron [ met. |
looked learned and rich wsgainst their
ignorance and poverty. At night, scated on o
bench, 1 would write down the points dictated
to me by Lala Munshiram and thon read to
him so that they would be fixed in his bram,
Maony labourers would come Lo listen to his
speeches, which promised them prosperily.

Our trips were tresome. Travelling by bus,
bullock cart, rickshaw or on foot, we wont
from house to house and from village to
village. 1 became & machine, recording namos
and addresses of his supporters, and the
listening secmed to be endless. My job scemed
to he monotonous — doing the same job, secing
same people, houses and farms. To a huge
crowd, he would talk like a sermon, spitting
on the floor to mark off his paragraphs,
clapping occasionally and thumping his fect o
punctuate his sentences, all of which
captivated the simple villagers, who in rolurn
shouted slogans promising him their supporl.

www.sakshi
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iy

SoEydde (B Bl - 90)

Sgren aha dorgd, o o8 Dol aﬁ‘aﬁm

Sr  TrONLEzE, wf  dhSodid
orufobarobhdy sHB5D Jawohomdk.
oddED  Hoppld i
REEor g, :ﬁ‘{l?ga rares  odd
Polrdodedpds oddd Fdm )b,
odal |Trofde ol SXSSie dobsis
o) = a8giin. BoH T 600 ddin. e
Supordmr rakbed baded «408
i ooikdus® (outskirts)
Pofraren dhavdn, 3o |Bod Jboor
dabody @ ddddad’ Jhidr 20 ddonr
Sehiploas emdn 8damd0.

o S5 HDRE boo duf) eediu
faboks Dodgiuwod Srh ofdpdtalr.
a'#a o Mol Eﬂﬁiﬁmuﬁ: el B
200 ol Dbofv didoddl ol
pRima. oq8 o e DN, o
a‘:.ué o 7 DD voTom [RE o
wdl DSHE rifiy 40DlheD sl
SO0 dNdodordn. orordod Srdood
a08 mﬁ:sﬁﬂﬁ (prosperity) &rgeEduwoi
ady udl prano Mol Sdyarde,

ir |[Solroroe o oodaf  £redddae
Godd s ¥ so8 Aol wmof'd oMk
wwhofe of |manwbod coFE mMaedd
widny, odeod, 83 T IRSd ouo
EﬁJrﬁaﬁm. wolit dfdord Do dbols
Sthardres oSN ool souard,
tdseds {Hﬂﬁar Rbcadoam arbnd.
od |Pue, zod Ddoh Dol
Srddids o D588 wond S GodAD.
af  adobsi, TR R AL T
Ddhdny 000t adaygdbdyards Dos
(8 mﬁ;ﬁuu ehoorobin)  eondtond
dovgd ool RfodheS i aly
Fhords, uBn8 20 Sy Phok.
Frge dodgraoid hiokhed Srdibnat
gran ddhverds. adly Fardy Puod
ugfodl. i adwmm o wand
S8 deow dhar .
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I returned home in March with a pocketful of
money that vanished into the bottomless pit of
needs of the household. My mother was proud,
even Aunt Sarala became friendly,
grandmother thought I performed & miracle
and my mischievous gqualities had, by now
evaporated. Bul little did they know that Lala
Munshiram had lost the election, I had lost
my job and my status had reverted to the
garlier one of being & wayward boy.

What is the meaning of ‘recede’ 7
{1} Move forward

{2} Move back

(31 Recsive

(4] Entar

Who decided to become a politician ?

{1} Beggar

(2} Daoctar

(3} A rich merchant

{4] Teacher

What is the handicap of the merchant ?
(1) Illiterate

(2] Educated

(3]  lllness

(4] To do construction
What is the name of the 'rich merchant' 7

(1) Sarala
(2) Author of the passasge
(3} Vimal

(4] Lala Munshiram

Who use to attend the lectures of Lala
Munshiram ?

(1) Labourers

(2) Educated
{3y Women

{4y Children )
www.sakshie
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B1.

82,

Bd.

(4]

aroyst & dwdoow dupned zodl
EEHEE-J&J widzgrifo Ha = gmod
woaore rhodd® ad arobddfordd, &r
il =~ ABon Il Adgon
CdpBidaing, H9¢ wod a8 hﬁ'urr-
dodwod, srolivdy F I Srob I3HD
Hobbhdtdod Zobon &N ol o
adpid  plBdonon. eren E::::Jan‘-ﬁj
Jnfod! Ladfovard ol Dhcldn 03
Aol Hbale ﬁﬁ‘guﬁu Dowsd. ¥
Srd oodoe o dloEy gpdy ol
-ﬂﬁ.-i:.i:-}_?h.

‘recede’ wdSm ug‘l‘u:.'h ?

(1) oo aﬁﬂ__ﬁﬁﬁl
2) dido

(3) DroXdo

(4) @3%oitdo

a5 oraloh ahiidfiag
aopodhsiamih 7

(L) %r‘l"ﬁ:

(2 ﬂ"'gﬁ:l

(@) o GDHIS b
(4) adrgrgolod

o argand a3k 7

(1) DEdovdes

@) woied

(8) warBrgn

(4) Domrren Jobdo

YNEEN agard L ip ?
(1) =de

(23 :m:?ﬁ Sdcwd
Dk

(8)
(4) oo Sudoedr

erer dweond ddargdrer ol S5
Syt 7. ’

{1} Hrdeo,

(2) ddptmerd

(3)  Rye

:iucati'%.cg'rfﬂr""’n'z"1
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Who was astonished at the ignorance and
poverty of the children ?

(1) Sarala

(2} Author of the passage

{3) Vimal
(4} Lala Munshiram

What is the purpose of reading the points
that are noted on the paper which are
dictated by Lala Munshiram 7

i1}

2)
(3)

It iz a habit
Ta get clarity in writing
Just for reading sake

(4} The pointa would be fixed in the brain of

Lala Munshiram

Which one of the following transport
means is ot vsed on their trips from
village to village ?

(1} Bus

(2}  Bullock eart

3] Auto

(4) Rickshaw

How did the author's beeame

moanotonous 7

Job

(1) Recording names and addresscs

(2)
(d)
(4)

Talking something to the villagers
Eating food

Through discussions with all

In which month did the author return
home ?

(1}  January

(27 Mareh

(3)
{4)

May
Decem ber

{25}

HA.

87.

[A]

P eprddn Sbof Dasgin 00
wiply dUOoraxn 7
(1) Hog
@) 8T8 dions,
(3) Do
(4} emer ::ugu-ﬁ:
e Dodond Dy s-ﬂdﬁ.u‘* s
soTod 00 SSS545 Sl & 533::13: 7
{1} w8 23 woogn
(2} |sraborod® HEs dodib
(3) SE5DE dmsd
4) orer u-:*n ot

Sisom nah anmmma/
[riin fed (ridy 3¢)@IE & (Scb
e ﬂ'ﬁmar.:ﬁ' 20D addlrfocdd 7
(1} mm.}
2) <guod .
(3) wst
S
Gdond e affpdin D o
SEBET wouse 7
(1) &g &b Dhardre [ErbESsin
(2] ol J8z Seirddie
(3) waddie a5ddis
4 wodts SEyoSdo weor
J Pod’ guowd mods BBASD T 7

(1) e3thB
(2} ir'-b,_."h-
3 &

(4) &%onb
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Drirections : The following questions (31 to 120)
contain four sentences which in their present
arrangemaent lack coherence, connection ond
development, There ix anly one way of renrranging
them to make a coherent paxsage. Choose the correct
arrangemend from the allernalives given and mark
your answer as (1), (2), (3} ar (4) in the answer
sheet,

91. Suddenly I was startled by loud shouts

of “Fire! Fire!"
I was sleeping on the roof of my house
A it was summer,

c.  Luckily there was no loss of life.

After a tough strugple of about two
hours, the firemen were able o bring
the fire under control.

deba
abed
bade
bead

(1)
(2)
(3
(4}

92, a, The old man replied that he might not

eat the frait of these but oethers would
EE.t..

The king asked the old man when he
would get fruita from those plants.

The king was pleased with the old man
and gave him & gold coin.

A king went on horse-back to the
countryside and saw an old man digging
the earth and planting mango saplings
in the feld,

dbae
adeh

(1)

(2)
daeb
abed

()
(4)

(28]

[A]

SFfsven 1 (f08 [BHodt 91 - 120) aFys
reld  peeod  fOAQLGS. o b
(e o arspod” o MY Mbspatdy md
Sopoddy md DevBduemd J, oD A3000 o F
a8 (Fhive” DRSS Sl BdeSpolidn Ao
Sodyddum eibd. (#od G003 (Sadvods’
SO0 KN EWD, b Sdrgnandy (1), (2), (3) T

(4) ar Simgril Bpered® boded.
9. a “lotes | Dobw " ed Ag
VLuthost 3 stmom  ady
SAD oo,
b SESDseody AT )
\  modfREdvyid J@oddodd,
¢ wERETE O (St usnH,
d. Bod Mobe AY Sobo dogd,
- ey it Syroad Foobern
Soo|BodnDmd.
(1) decba
(2) abed
(3) bade.
(4) bead
82. a & ooy 35 554 =w sdde
BASON v dudbards BArerRddyR.
b, wdf o Johod Joduven Sy
Sl el o w o eddDadd
sdfi, L

. A8 o oo Soffhou uf
womrd TRauk odrdbodd.

d. sSwold HSEwp [dpdiy o8
e Srodnd® #ZrDd Lﬁ%ﬁl'
im:mi Moo arbnddy 8
aaDadd ST,

(1) dbae

(2) adch

(3) dach

(4) abed
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83. a. My hobby gives me immense pleasure
and I am able to make the best use of
my leisure time.

b. A hobby is something that a person
likes to do in spare time.

e. My hobby is planting flower-plants in
my house-garden,

d.  These planta include rosa, lily, jasmine,
dahlin and sunflower plants.

(1} abed
(2) beda
3} dabe
4y dbca

4. & This job is done mostly by women.

B It is interesting to see tea-leaves being
plucked,

€.  Our best tea-gardens are there in the
Kangra Valley, Dehradun and Assam.

d. Tea is grown in {iea-gardens on
hill-slopes.

(1} abed
2] beda
(3} adeb
(1) dchba

9. a. A frog is a small animal that has
bulging eyes and long back legs.

b. The strong hind legs onable the frogs to
feap further than the length of its body.

Frogs are classified as amphibiana,

Most amphibjans spend part of their
lives ms a water animal and part as a
land animal.

1y abed
2) bedan
(3) bade
(4} cabd

4.

(1}
(2)
31
(4)

(1}
(2)
(3
(4)

o

()
(2}
(3
{4}

2]

o g &b aw wigod
Eﬁ-ﬁﬁtﬁ.ﬁuﬂﬁg:&u aboln & oy,
e ) RAATA A LR ﬂ%ﬁﬁbﬁiﬂ
Enﬁﬂwﬁﬁmﬁm.

b Shobiwst o Bpd Jole 28
af S0 D wosrds,

aodl 8'0s* Sre ey e a‘*-_‘ﬁﬁ- o
Gty S,

foerd; 98, Fdyers, d0ofr ol
Bt Sro  Jefior  Ded
ﬁ;upr

ahed

beda

dabe

dbea

) :ﬁﬁ‘gﬁﬁuﬁ: JER  Wod e
Juss, -
Holrdh wfHiw Lldsdh drddo 4rs
Aybm Gk,

o Sob, aFroded  L0oh
edond® b L ﬁé dotrs)
& ien Hedn.

Sdediny Jbow Soived doird
Boen bodedts,

abhed

bedn

adeb

deha

Edy dmunZode fobole Srdned S
ey SDodudn 28 Ry modd.
H5new pod IHE = a8 $68350

DAY HoB Jnd Srfin dwodd
Sfnthols ShEsh SDAa,

gyl agfobSoresm ShEboord,

oo adoldoves, a8 ADaAnst
Fod riiod wmoscddhm Fud
Py raodiym Kb,
abed

beda

bade

cabd,
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ASr401 [ 28 )
8. 0. The day was hot 88,

b. But in the end all reached the homes
galely.

€.  Thy picnic party reached the lake by
11.00 a.m.

d. All went well till we heard Ashok shout
for his life.

(1) acdb

(2) dbac

(3} cadb

4 mbed

97. a.  Not much is known about Newton's life
at Cambridge in the early years of |87,
professorship.

b.  He experimented with many technigues
for grinding lenses (using tools he made
himeell) and in about 1670 built the
firat reflecting telescope.

c.  But it is certain that the construction of
telescopes and optics were among his
main interests,

d.  The simplicity of his prismatic analysis
of sunlight has always marked this
early work as one of the timeleas
classics of experimental science.

(1) achd

{2) abed

(3 dach

(4) bacd

_ (4}
www.saksrpleducatlo

a.
b

(1}
(2)
(3

i)

(1)
(2)
{3}

(A]

o Addy H3dm acdsa.

N DH0E wodtr HESAuT soMs
E'I:’Jhr:l-lda.

et B A afobis
1100 a.m, o8 Hhﬁﬁl-:n, o

oFE 83 Lﬂ-mﬁ;n:ﬁ:- svardofny e

ol oiid Dds O3 D soo
e dhpdDa,

acdhb
dbace
cadhb

abed

ﬂu[ﬂgﬁ‘ a5 worly 88T &0
::DHJI:I‘L?E" :-'3.115:,‘.1;5':: gddn MHdod
Ji}bﬁm Dok,

ook bidbdhdbded »d oo
Sddoin (85 dobrd Jud SDEuaE)
Balrrrd) e Foflamd bk
1670 &° Juisd d&DoDod BOIH
dolrds T,

BOa%Qe  Sdoe &b Sowcdd
208w Dooduor wdd)  dupgdd
e,

wdi) Glhof) Spsiw ovgoe e dpsrod
The  HEYS  parmEE el
THyad i wdd &0 sdgium
b

i ¢ hed
abed
dach

bacd
n.com
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88,

100.

(1)
(3)

(1)
(8)

www.sakshieducation.com

{29}

They arrived at Calcutta — about the
middle of the month of October. :
They expressed their great and sincere
admiration for the devotion and faith of
the worshippers of the Goddess Durga.

At thia time of the vear, almost all the
Hindus in West Bengal are busy with
‘Durga Puja’. .
A certain number of ladies and
gentlemen from the United States of
America came to India to wvisit some

important places.
abed
acbhd

(%} ecebhad

4 dach

Knowing the dangers of drug abuse, the
governments of many countries have
taken various steps to deal with the
problem.

This 15 the misuse of drugs - drugs
obtained illegally and taken for the
purpose of getting pleasure and thnlls.

Today we hear a lot about drug abuse.

This practice can ruin a person’s life and
even lead to death.

abed (2)
{4} dabe

chda

bdac

Berides nature, good human
relationship is totally free of cost.

Friendship, love, loyalty and concern do
not cost ue Money.

The love of R mother for her child, which
enaures the continunation of the human
race has no price.

It cannot be repaid in cash or kind.

(1)

abed 2} dbca

{3

dach {4y edba

www.sakshieducation.com

a8,

1D,

{1}
(3)

{1}
{3)

{1
(3

; [.."I‘Era-u:&: faBod,

(3]
> ooy efol o s
foder By,
Sograriiie  Sprdocdarl ﬁgﬁgﬂﬁn
Tt doduyrdediiom Bioboda .
SobdySEnG'D & Bibabest By

Borrds's oo  sosir
‘oo pru’ sdgddicnm aoirdD.

Fod Dod hHeey Dbofs PHdow
2B ol By Suppmd Sdwol
BBjoets o SSE e
ﬁ'ﬂ.jﬂuﬁdmﬂﬂ. ’

abed {2) ecbad

achd {4) da u}

ot ol ﬂ:ﬁsﬂ'ﬂﬂlﬂ'ﬂ.‘l ..-J.'IJEEI_
e Hpee
ehergen 6 wdifosd
D0 S8peds -Ei.’:-gmﬁ:n.

ab ofhn Sdeddlrridn - sibm
Ddothod SpsgBlisor dlesn)
whodin doot ofedin Sodah
aasd,

i Sewest Ltde Sdihole
ﬁ:hﬂﬂﬂ.‘l‘ﬂﬁﬂ fafoo JEJEEE-I'I‘
 ooats LS
s ot

@l BDSEd
dobody  Sodeiodh

. Erep orBbolode.

chds
dabe

2
()

abed
bdae

@588  ediorm, doD  Ardd
Domogrex dp8m mdnddn,

Gydedw, (bl SSpsho bok
ergpden b Jerod Q}HJJE' Er 850
=3,

Debd ¥ S0 aw (b wds
iriderd SHbASSt Bosydnn.

&0 Ehdrdor s HE gldrdom
sn BON abEily,

abed (2)
dach (4}

dben

cdba
J


user

user

user


www.sakshieducation.com

ASfad (30}
101. a. No visitor to India ever misses it 101, &,
b. Among the many places of intercst in
India which attract wvisitors frem all b.
parts of the world, the Taj Mahal stands
firat.
¢.  Taj was built by Shah Jahan in living
memory of his wife, Mumtaz Begum. .3
d. The tomb of Mumtaz and Shah Jahan
himsell are inside the building. d
{1) abed (2) badc
(3) baecd 4} dabe 1
(3]
102, m,
102. a. Most of the sharks are not ferocious.
b. Sharks live in all the oceans of the b.
warld.
e.  On the olher hand, there are a number e
of sharks which have killed swimmers.
d. They are found mostly in subtropical d.
and tropical waters,
(1) cabd (2) dabe 1
(3]
(3 ahbed (4} bdae
108, a.
103. a. Snails like to sleep during cold and dry b,
weather.
b. They have no inside shell, enly a soft
body and & big shell which they use
a house, ' C,
c.  Snpails live on mountains, in deserts, in
forests and towns. 3
d.  The French grow, boil and eat 250 million '
of them every vear,
(1) abed (2) ebad
' (1}
(3 deba i4) bedan
i (3)

[a]

wid Zrdd 3O D Sosfnd
& dSrddoo SR,

(B0 DS srmeiiod erbd Hms
) Bodtyes e¥god drdans
oo BErod e hrd Jusan,

&5 oy Swoed Hitdw sl
et ol ABjoard.

& HiSod swomd  abol
Sraidhe Shrdoaon.

abed (2} beade

ba 1:__1:1_ {4) dabe
Sdndosty sindere  HEddw

(oT5e) Pobostasd s

[doddndst vy  SEucost
S8dde. (dTben) Sdods

e Bdde (PEdSe) FY 1o
ddmeyh Joddnaron,

a) g od  afiboede s
ﬁaiunﬁ:: zer.rg‘ Aoy,

cabd i2) dabe
abed (1) bdac

S0 Hbol 28  oeddpdsst
DBobl Sden b,

st ie Wiy dodd 0 Sl
408 drgde sodd. oM g
ﬂi’:-;:'b:u &) aeorr ardE i,

Ao SogeroDs, s st
sdpod’ ook dporod’ dlodb.

Folard  (BBSobdyEins’
250 SoDobsh Sdody Dod, adlod
a3,

abed (2) cbhad
i

deba (4) beda
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1 take lunch at around 1.00 p.m.

I return in the evening.
1 go to school in the morning at 9.00 a.m.

My name is Anil

(1)

deab {2} abed

105.

106,

3]

(1)

cdba {4y bdac

He explained the procedure of beiling
the egg and went away.

Thomas Alva Edison was a greal
scientiet. He had a cook.

By the time he returned, the scientist
wae boiling the wateh and looking at the

EER-
The cook hed to go out for some time,

abed {2) edab

(2)

bdac i4) dabe

(1)

When | enterod hiq house, his sister
asked, “Why didnt you attend the party
last might 7"

1 had a lot of work to do and went to the
party after the completion of the work. |
wii a little late.

| was late by a day.

One of my frionds inviled me to his
birthday party.

abed

(2)

dbac

(3
(4)

acdb
baed

104,

106,

104,

(1)
(3)

(1)
(3]

(1)
(2)
(3
4]

(]

100 pam, (odfnd T dgrgim
Fresde I,

A% dradoldin SBH STd.

e adobiw 900 am. dAobokh
ardrod I-Eq,'u:":w‘i'n.

a dugy 9 end

deab (2) abecd

cdba (4} bdac

1{-@-&35: alfod Doeidwin aDHboo
CT. 0 -ﬁ-ﬂa#‘ﬁiﬁﬂ-

il werg 2335 w8 AE)
rasweds, eS8 L Sodord
Ao,

wdio BOMASEy SUH, o THipd
\ogeis e fdolr8hunk
adiohxbodi.

o Sobhrdh Fod Sbolde
wolys E#Jilﬂb aoddd. ~

abed (2) cdab
bdac (1) dabe

£

woén =odsNE b SdFcdmd,
wdd D “AH oB FHE Jodh
ondlels 7" ey udR5S.

4 JEe e dardyd 8 oo
dodd ook 3 Jrd voud Sogd
82 30y aodd. wothdod Foddw
e ping gownd,

A of Blee wolghom 30)m.

o yirdod afd &b abhd
08 Sy wdigRolird.s

abed

dbacg

acdhb

bacd
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AS/401 (32) [A]
107. a.  Now he is studying in T, Bombay. (107, & w&% adpd 1T,  woods’
Sy o,
b, Jaswanth completed his Intermediate
G e L b wigod woubiachd EEno -
Haarda,
c. He ,q'nt Em-nﬂ rank m [I'T Entrance & wd3E [T Lﬁﬁ ﬂ-ﬂ!ﬁ: P, G*Euﬁ..'n
Examination. Eﬂ'ﬂ:ﬂ.‘-
d. He wants to study Enginecring d  sdd moedBod ,54:5_-,;51.-_-..,_.
and #o he wrote EAMCET/IT-JEE EAMCET/MIT-JEE 380 [ohard.
examinations,
(1} abed (2) baed
() abed {2) bacd (3) dach t4) bdca
G Ash W s 108, & D8 Sfhe 0 Lol Eie
108. a. [ts bloed showed common qualitiea with "-‘5*-“ e3 :ﬁ.a_"';ﬁ sieron drbaow.
the blood of the malaria patienta. Thus wodawm ob Jydddduedol.
R AS oniiie b Sodd sdod SRMGLE Bod
b, FHonald Ross conducted & series of R 238 dsre Sheld Shdo
experiments on the differont kinds of [;:I-ﬁ!.'l'r‘i'ﬂﬁ.'l Eﬁﬂh‘ﬂ-r‘.‘rﬂ‘ﬁ;.
mosquitoes in order to find out the
traces of the parasite. ¢ aftclr s-dorod  DonElbd
s oo wboly e
e.  Physicians and others worked 4
continuously to [ind oot the causes fnr Adoddinmr St
malaria. d. Todo Doddyidwen Jorod HOoror
Ii. I'Il.wu_ YEHFE d.'ld ol }'iﬂld any TEII.IHS 'h-t- T'ﬂ'ﬁ:. ':l'«'-':rﬂl'l"' -E'..lﬁ ﬂ'ﬁ:&ﬁ Eﬁﬂfﬂ
last he found a species. FeBoamd.
i3] deah (4) bacd
(3) dcab (4) bacd
108. o Digorpoobing' ed (g
109, a. But one day he happencd to hear a ﬂeﬂu‘ﬂ"ﬂ.‘lﬂﬁ ddmpiinh  edd
famous Professor of Mathematics Nebrgkas mBASA
lecture at the University. '
b, Heldin sdgobiind’ esds sDHO
b. He got interested i the study of —
Maothematics. ?
. afwd nbbar iy D gl
¢, Young Galileo wanted to atudy medicine : E'EE wor: 3
and become a doctor, SavRotRds.
EH]E!:& :ﬁ&ﬂ AL
d. Bo he took up the study of Mathematics 4. & iy IHpdorge % a
and Physics in the University. g &zum ﬂtag"éj“']:ju
msdipafciuey ernE o,
(1) abed (2) ceabd & o e
(1) abed (2] ot
(3} bade (4) de¢ba
www.sakshidducatith.cof! © 4) deba
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110,

111.

112,

.

(1l
(2}

www.sakshieducation.com

(33

Such people are colowr-blind.

These people are unable to pick out red
Bf & separate coloor,

To most of us, a post box is red,

But there are people who would not
agroa that it is red in colour.

abed
dabe

(3]

cdab

(4)

bade

A fox saw large bunches of grapes in a
vineyard.

He jumped at them again and again but

it was of no use,
He wanted to cat the grapes,

He returned and said, “The grapes arc
aour,”

(1)

achd

(2)
(3)
(4)

{1}

dbea
bead
cabd

The shopkeeper told her that if she put
some onion in it she can eatch miee.

One day a lady saw a mouse running
across her kitchen floor.

She went to a shop and breught a mouse
trap.

She was much afraid of mice, so she ran
out of her house,

adbe

(2]

hdea

1]
(4]

achd

cadhb
www.saksh

111.

112.

a.
b.

.

(1)
(2)
(3]
(4)

(1)
(2}
{3
(4]

(1)
(2)
{3)
(4}

(4]
aSdnsod i’:::fm‘mﬂw Blapl AT
e Do 3 Sorbre BTG,

WSS oo RofE  Edver den )y
O Ebochida,

R A28 JHGedd orer fcn
Lﬁyfﬂm =,

ebcd

dahe

cdah,

bade.

uf |Eiffed’ b oEdod HEud
nE 255 Jei,

a8 Eéj!.;':mﬁpgl WMNB = wh
a;gg;;&s.

s |rEoid SSSeRERd,

©8 B0MABDY &1 Do Wl "ok
dods Rgn.” |
achde=

dbca

bead

cabd

adridile woths RS Dendod
:agaﬁ&a domrmo ovl ud Sy,
28 B dosdn dobd of g
&ﬁmﬁdn Wl Slrerghs,

el Sasitand s, El'.?"} wen s endy :':§
S 3O0E8,

vl dwlodoed oo Joalddoods
®od od vobhid E&ﬂﬁﬁm.

adhbe

hd CEH

achd

cadb

education.com
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AS/A01 134)
113. a. Some pessengers jumped off the beat.  [113,

b, The boat had twenty workers.

¢. ‘Two fell into the river,

d. The hoat-man was a good swimmer and
saved them.

{1) deab (2) dbea

{3) abed (4) bead

114.
114, a. Ravi found his pen miesing one
M OFMLnE.

b. He had to prepare some notes and hence
stole the pen from his father's shirt
pocket.

¢. Ravi'e [ather was searching for his pen.

d. He felt sorry and gave the pen to his
father.

(1) chda (2) mbed

(3} dabe 4) becad 115,

115. a Untreated  hepatitis . cRuses severe
damage Lo the liver and the patient may
go inlo coma end also die,

b. Inlation of the liver is known as
“hepatitia”.

c. Recent research has aimed at
developing & vaccine against hepatitis.

d. The virus is spread by food and water.

(1) bdac

(2) abed

{(3) cabd

(4 dabe

(1}
(3}

(1}
(3)

(1}
(2)
(30
(43

(]

Codth  (datrden  HESod

pofdEs Manlamd,
S8 ad3ob i\ﬂﬂ?#@;ﬂﬁ;.
wd La6¢Y SARfcunmrth,

Sddrd Fow edmd Hbale
b seardoed.

deab (2} dbeca
abed {4y bead,

28 afdodhan &5 Sedy Founds S
fLBodards.
o B E‘m:lm Salrtodatr Oy

agodia sud #3 doldmd T
Hooduol Hedod SofDoot.

60 do|d &% Sosw Sade
afdylodo,

sdi oo dxbodd Dbl &5
do|88 Holudh S8R ady.

cehda (2) abed

dabe (d) brcad

DEd o)  rIESD s dsdwm
sHobdn BHpors Ddddph, &
:B_ui’r E‘ﬁ‘nﬁéﬁqﬂm awboi
ﬁﬁﬂ“id@‘-’n sroe.

sdofin dof o eHTLE

wodds.

WAL 8 S eDh)d SEsdy
wgng H0FIE ofpior DaFHD.

wirdhe Mol AdHen & 360
arphodie.

bdac.

abcd

cabd

dabc
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ASM401 1351
118. n. HRobinson Crusos was a brave sailor. 1168. a.
b. With the help of & ship, he returned b.
home after twenty yvears,
e. He was alone for twenty years on the -
island.
d.
d. He was shipwrecked and reached an
igland;, the members of his family }
thought that he was dend. 1
(3
(1) adeb (2) abed
3 ebad (4) dabe RbTe:
117. a. One day Fred was coming home from
his uncle's house, b.
b, Dykes were built to stop the sea-water
entering the towns or villages in
Holland. R
©. There was nobody around its
surrmoundings and so Fred thrust his
hand through the hole and stayed till d.
marning.
d. He knew the danger of the holein the {1}
dyke. (3)
(1) dabe (2) ecdab 118. &,
(3 bade {4) abcd
b.
118, a. Hiven Teang was educated in the
ancient Chinese Confucianism.
b. He wanted to visit Buddhist centers in
India, particularly Nalanda, where he
got answers for his many gquestiions,
from Buddhist monks. e
e.  Chinese pilgrims made the perilous trek
to India Lo visit holy places.
d. There were strong cultural links d.
between China and India.
{11 abed {2} dcab (1)
(3) mchd i4) eabd i3

www.sakshié
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OS5 |Sr2 nf JegRd TDith.
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dored modl adRSIyard.

Spditud oY ) 25 4 add
haﬁﬁ:jﬁ&:m A,

wolbd ¥ Lodhoasd  Hboke
edd w8 Seddods dhband.
adech (2} abecd

chod (4) dabe

nl Hee |8 835 Slu¥y  Damold
ool oo @O
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Stedwe 371 Lnﬁarm::-ﬁ‘:}ﬁ
Ehyssy 48  okom  eboeDi

Hoohst sfibot Ihard.
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24 &5 dlwy d83 doldind® ]
ardalin S5 ut‘.'z:,nﬂ vy,

ugﬁfgﬁ'ﬁ dojdaw GlwE) |Darddy
ednl BDoiud:,

dabe (20 edab
]:nu:h:l i4) nbed
S ol Hodd  Sdolo

dderisind’ Hgks Adodard,

e Bidnd' g Fleroi
La’:é’gﬁnn- P LY
dijoroinhamde. JodsShm wdl
Cwd), oo (Hhoh 0§ daghe
wod sy OS5,

i EedN M08 (SEwod
dhhodhod Do oo Roalrnd
Erd3d sDSGES -ﬁdﬂﬂ‘:ﬂ.‘h

Fr Sbdody prdddre B voRd
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ASA01
119. a. Honey-bees communicate by way of
dancing in a peculiar way and it shows
that there is plenty of honey in the
Nower garden nearby.
b,  Honey-bees work hard to store honey for
winter.
¢. Bees march in & line to gather honey.
d. We should learn from honey-bees how to
cooperate with one another and work
hard.
(1} cdba
2] dabe
{3) deba
{4 achbd
120, a. Eerly astronomers were  slilled
observers of the night sky.
b.  Once people mistook that the Earth was
the centre of the Universe.
¢,  Maoatly, however, the Universe consists
of empty space.
d. They tried to explain what they saw and
put forward their ideas about what the
Universe was like.
(1 dach
(2) adbe
(3) dabe
4) deba

118, &

120,

(L}
(2)
(3}
(4)

(1}
(2)
(k)

(4}

4]
aaden Syfgindoind o8 (B
Sgad' Sbrodhnd  B0abH ol
Dbofe S406%0 Hroffes’ oo 33
oS Dirodiud & ddom
8 Dad oy,

fersoin BEL @350 Dogdolend
dadien 358 SDdolud.

B3 HEbomes  dbdw
SEsdps® [Balrdodi.

LED FEd Bigboef'Sodn Robod
358 30 Jobdino  Sddwe
83 fod AdpTsioi.

ey

edba
dabe
deba

aebd

% pf'Y T oyB
osiiod H0ADohbLE" __2-5:1_-]@3&.'-‘.&:
EDRAcKuodl.

& el Jdedn Sledy Fomhod Tod

ody L!--r:i:.‘:.u adoen dd~am
uﬁaﬂ:’:a!:;rld:.
woliddned, & Ddgde oedds

Ay S84k 50N,

O :ﬂi‘grm o ardh  Seheha
awboty  20E SO grderon
awdodaras q_ﬁ-niaﬂ-luﬂmﬁa.

dach
adbe
dabe

deba
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121.

122,

123,

124.

125.
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If A =T, 2. 8, 4l _ami B = |2, 4, 5|, then
(A-By U (B -A)=

(111, 3, 6

(2) 12, 4, 5)

3y 12, 4

(4} |3, 4, b

Find the geometric mean of 5 and 125,
1) 10

2 15

(31 20

Find the arithmetic mean of the numbers
T5&E9 LS

i1y 4

(2} 6

4y 7

In a class of 50 students, 30 take
Mathematics, 25 take Biu_lug:_r and 15 take
both Mathematics and Bislogy. How many
students take neither Mathematice nor
Biology 7

(1) B

3 15

(4) 20

In m claes of 40 studenis, there are
M students who play tennis  and
20 students who play cricket. Ewvery
student must play at least one of .the two
games, How many students play both the

gumes 7
(1]
(2}
(3]
(4]

;lF{T-'IH

{371}

1Z21.

123.

124,

125.

. 5 Zoboln

(A]

A =11, 2 3 4 H0ckw B = [2, 4, 6
woudS, (A =B) U (B -A) =

{1 11,3 5

(2) {2, 4,5

(3 2.4

(4) i3 4,5

125 © Gy avybbad
Sagigoduoity Sikofod

(1)
(2)
(3)
(4}
7. b8 8 9 1, 6
w0t Sty
[1}
{Z]
(3
{4)

£ cﬂnﬂa

=1 & 0 o=

a8 SEA8SD 50 &ood Jerpthed®, 30 2ob
Heddidndn, 26 dol dbriadnd Hool 15
el Addiy  w0wh  ddviydai
FL e BT eSS o) 318
dimdtuiarrd BHELD Dergten Jodts ?
(1) &
(2) 10
(@ 15
(4) 20
SEA8SN 40 Food ﬂn‘ﬁgwﬁ‘. 30 ood

BnR wam wbofy 20 ool |BBS
WMy, (38 gl & Tododd® b
a4 wErd, HJod woh Dopdi &
dot wboin wdddh 7

1 2

2) B

{3 9

4 10
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AS4A01 {38
126. The angles of a triangle are in Arithmetic |128.
Progression and the greatest is three times
the least. Then find the greatest angle.

1 30F
21 RO"
13 80°
4 1207
127. In a triengle ABC, #B = 00°, and the |qg7
lengths of two sides AB and AC are
12 units and 5 units reapectively, Find the
langth of the hypotenuse (in units).
1y 11
(2) 12
4) 14
o4y 14
128. The rotio of the length to the width of a
reclangular field is 4 : 3. If the width of |128.
the ground is 90 meters, then find its
length (in ‘meters), '
(1) 100
(2] 120
(31 140
(4) 160
129. If we divide ¥ 965 among three people

such that the firat may receive 4 times as
much as the second and the third may
receive 3 times as much as the second,
then how much amount (in rupeea), will
the second person receive 7

115
118
120

th
(21
{3}

{4 121

[4]
w¥  (Ogbudndn Srd oo wod
Bloddd® ammon bofs W8 OdorDi
ardodan. DY Pt aod 7
i1 3o
2y 60"

(3 a90s

4y 1207

AABC e |[Babziwd’, £B = 90°, AB
Wobofn AC wmd B drdpen S
12 ohedds Mbol 5 ofrds Sgike
ﬁtﬂﬂar ardan {nﬁ.‘l*-'lEﬁ"} o 7

(1} 11

2 12

3y 13

(4) 14

&g Sdodres  HEde w o

obofn Bderyp VB 4 0 3w FEde
Sdory 90 . wondd, o) ) P
(bags’) Jos 7

(1)
(2)
(@
(4)

100

120

140

10

T 988 of Subih dphef Awis Ta8
Jodbarngod n-q:-&u:u =oBokn
SamEnernl Boddarngo8 sardoden
dodnddn DoULHOR. oipds Jods i
T Eh:gu- (4 P.'uﬁ"} arodhin 7

(1}
(2)
(3)
{4}

115
118
120
121
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130,

131.

132,

133.

134.
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A decided to divide T 98,000 between B,
and C such that B would receive ¥ 18,000
than C. l;iu_w:n- much amount (in
rupees) would B recsive 7

{1} 40,000
(2) BB,000D
(3) 18,000
(4) 26,000

more

IFACB thenA N B =
(1 A '
2 B
@) A\B
(4) BMA

If ¥ and g are two real valued functions
defined on the set of all real numbers by
fix) = x - 2, g{ﬂ-xinﬂ.:iaarul
number, then find (gof) (3).

(1) 25
(2) 18
(4 9

4)

Find the value of k so that
x - 3x° + dx + k is exactly divisible by
X = 2

() 4

(2)

(3)
(4}

The Ial:lg't.l:l nf a hall axceeds its breadth
by B meters and ita arom is 163 melers®,
Find the breadth of the hall {in meters).

(1) 25
(2} 16

4@ 7

(39)

130,

131.

132.

134,

[a]

T 96,000 o A wdords B H00ale C o Sge
BodEbod. C 5o B 8 T 18,000
SRS, B © Sy Sudie (Srdvabodt)
od 7

(1) 40,000

(2) 58,000

(@) 18,000

(4) 26,000
ACBwoxd® AN BE-=
(1) A

(2) B

(3 A\B

4) BuA

wiy o508 Roggo Sverobin P f Dok
g Dol o3DE DEredd do @dolhe
w2 (20l Jefhur DOy Dodudsd

-ﬂ;:l::l-?:-i_':. g{ti=x=+3.ﬁ‘1h§

. . TR0 dogg
wows (gof) (3) D oot
(1 23
i2) 16
(3) 8
4 4

-3x" 4+ dx + k 038 (x - 2)  pdhydom
VB0 UST, k Db SRy

1y 4

{21 =4
{3) =6
(4) =8

28 Stew Glu) drdidy, Bdesy SoB & bad
SRS a%0 Lol oD dlnd Dhdie
153 ooth”. S Ghofy, ey (Dbget)
LEM T

(1) 25

(21 186
(3 4

(4) 7
i . "
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135,

134,

137.

138.

138,

www.sakshieducation.com

Find the sum

numbrrs.

of the Grst 200 notursl

i1y LOLis

(2] 20100

230100
40104

(3]
4]

=1

a
II.lII = B

x=sl “I]-I-.E—E

1y &
12) 3

4) 3

Find the middle term of the expansion of

el

m ‘e,
@ '
3 °c,
4 ‘c,

The fOrst term of a geometric progression
is 50 and the 4" term is 1350, Determine

thé 5 term.
(1) 3080
(2)

(3)

4050

5050
(43 8050

P o e L P L
(1)
(2)

) b = =

(3}
(4} ab + be + cp

[ 40)

1385,

136.

137.

138.

138.

(4]

Dokl 200 Hiee B dud

Hrof s

(1) 10100
12y 20100
(3 30100
(4) 30104

wopge

T v

a=t]

(1)
(2)
{3
4)

&
[i— + %] ﬂnﬁa SRt ﬁmﬁgﬁl

Dy FRRals
(1)
(2)
(3)
(4)
erplbdol HUCHES'D Mdd Dode 5O

Sofofy 4 & S5&w 1860 & & SSEh
&S A iosan

{1} 3060
2]

{3

4080
G060
(4) G0BO

£ R " il RV (e nl

(1, 0
1

(2) 3

@ 1

(4) ab + be + ca
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140.

141.

142.

143,
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Find the equation of a straight line
passing through (3, 4) and having slope 3.

(1] 3x+y-8=20

(2) Bx-y+9=0

) x=-3y=-8=0

) Sx-y-9=0

From a ship mast-head 175 meters high,
the amngle of depression of a boat ia
observed to be 45° Find the distance of
the boat from the ship (in meters).

{1y 150

(2) 160

(3} 175

(4) 200

Find the mode of the following data :
7.9 8 77.6,3 7 8,1, 7.0

(1)

o

-

(2)

(3)

- I

(4)

Find the mode when median s 1256 and
mean 18 128,

{1y 118

2y 121

(d) 132

(4 120-8

(41)

140.

141.

142,

143.

(4]

(3, 4) Doduly dood FYHed il w
3 o H5¢ Jp HEdoiodn STk

(1) 3x+y-9a0

(2} Gx-y+9=0
{3] 1—:13'—H=l.|

["jl]' Ex—j-—ﬂ':rﬂ

wf TE Sogibw b 03¢ 175 ed
Jdsood, =8 B0 Jdofe Fodw 45°. TS

Sood B85 GwE Erdiy  (bedsh
Siofriodn
(1) 150
(21 160
3 175
(4] 200

& |2oB deroiin Gndy  wimedieRy
Eifdody

7.9.87. 768721797

(1y &
2y 7
(3 &
4y 8

fofgrdie 125 Hboh  Adghdn 128

sownts, pdrodEindn £l i

119
121
132
120-8

in
(2
(3
(4)
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AS/401

(a42)

1 4 —4
1 4 5 -4 [ a'&unﬁn]&.[ j ]
% then |144. A= ~
4. If A= [:'a :—,] and B [_2 1] ) i 5 k

-8 1 "
145. II'A-[B ]]. then A+ A" =

wouds, BA =

10
{1 {,E- _a
10
(2) [—.EI 3
1 16
o
1 16
o34
= 1 E,
145, A-[:‘- LJumﬁH.h+ﬁ1=

=1 2
1 ;
(1} g 1
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AS/401 (43 ) [A]
146, If 3x + dy = 8 and x - 6y = 10, then 146. 3x + 4y = 8 Wwdoky x - 6y = 10 wowdd,
ix, y) = {x, ¥) =
8 T T ] (1y (4, 1}
2 (4, -1 (2) (4,-1)
@ (-4, -1) @ (-4,-1)
(@) (-4, 1 (@) (-4, 1)

147. Ilx= secO + tan 0 and y = so¢ 0 = ton 0, [147. x= sec® + tan O SO0y y = sec 0 - tan O

then find a relation between x and y by soud®, 8 & Fhodm HOE x 0ol y
eliminating 6. o Ep;f.‘,'ﬁ;ﬁﬂ Soaodhnd SaRTeEm
(1) 15'_!.' = 1 (11 :ay =1
2) xym ] (2 xy=1
3 x¥=-1 3] xy=-1
(4) :';I'I'J'E:’ (4} xﬂ+:.ri=l
148, {sin O + cos 0)° & (sin @ - cos 6)° = 148. (sin 0 + cos B)% + (ain B — cos 0)F =
iy o {1} ©
{21 1 2y 1
3 2 (3 2
4 3 (4} 3

149, The radius of a circle is 14 em. The angle |14p, o8 Sygdw G ogdrdien 14 o &2

subtended by an arc of the circle at the G, uf HEosds Sody H Jdob
centre is 45°. Then find the length of the Fodw 45° wondd, Hdodin oo
arc [in centimeters). SaD (Pothads’) LhTibde

(1) 8 (1) B

@ 10 2 10
@ 1

41 14 4y 14

150, Solve |2x = 3| 5 6. 160. 56 0oddn (Solve) |2x - 3] < 5.

{1) -BEx<=-2 (1) -Bsx<-2

(2) -1=Zx=<4 2} -1sx<4

(3} 6£x<8 (3) Gsx<8

(4} B<xxs® (4) Becxzh

www.sakshieducation.com


user

user

user

user

user


ANDHRA PRADESH PUBLIC SERVICE COMMISSION: HYDERABAD
FINAL ANSWER KEY :: No.of Questions: 150 :: Total Marks: 150
GROUP-IV SERVICES (38/2011) :: Paper-2 SERIES: A
401 - SECRETARIAL ABILITIES

QNo. ANS QONo. ANS QNo. ANS ONo. ANS QNo. ANS QONo. ANS
1 3 2 2 3 1 4 4 5 2 6 4
7 2 8 3 9 2 10. 3 11 2 12 4
13. 1 14. 1 15. 3 l6. 4 17. 2 18. 3
18. 2 20. 1 21. 4 22. 1 23. 2 24. 3
25. 2 26. 2 27. 1 28. 3 29. 1 30. 2
31. 3 32. 3 33. 1 34. 4 35. 1 36. 3
37. 1 38. 3 39. 4 40. 3 41. 2 42. 1
43. 4 44. 1 45. 4 46. 2 47. 2 48. 4
49. 2 50. 3 51. 4 52. 9 53. 1 54. 3
55. 1 56. 2 57. 4 58. 3 59. 3 60. 1
61. 1 62. 1 63. 2 64. 1 65. 3 66. 3
67. 2 68. 1 69. 2 70. dorl 71. 2 72. 3
73. 2 74. 1 75. 4 76. 2 77. 4 78. 1
79. 3 80. 1 8l. 2 82. 3 83. 1 84. 4
85. 1 86. 2 87. 4 88. 3 89. 1 90. 2
91. 3 92. 1 93. 2 94. 4 95. 1 96. 3
97. 2 98. 4 99. 2 100. 1 101. 3 102. 4
103. 2 104. 1 105. 3 106. 2 107. 4 108. 1
109. 2 110. 3 111. 1 112. 2 113. 4 114. 2
115. 1 1le6. 1 117. 3 118. 2 119. 4 120. 2
121. 1 122. 4 123. 3 124. 2 125. 4 126. 3
127. 3 128. 2 129. 4 130. 2 131. 1 132. 4
133. 2 134. 3 135. 2 136. 3 137. 1 138. 2
139. 3 140. 9 141. 3 142. 2 143. 1 144. 3
145. 1 l46. 2 147. 2 148. 3 149. 3 150. 2

Q.Nos. 52 & 140 Cancelled.
Q.No. 70 Answer choice is (4orl).
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